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01. 1)       mNrhf; ntJg;gf cw;gj;jpahsh;fspd; 
    cw;gj;jp fzf;F 

%yg;nghUl;fs; 150,000  

(+) nfhs;tdT 815,000  

cl;Rikf;$yp 20,000 985,000 

   

(-) moptile;j ,Ug;G (7,000)  

%yg;nghUl;fs; 
ntspj;jpUg;gk; 

(7,000) (14,000) 

  971,000 

gad;gLj;jpa 
%yg;nghUs; ,Ug;G 

(180,000) (180,000) 

  791,000 

Neh;$yp 200,000  

ntFkjp nfhLg;gdT 50,000 250,000 

  1,041,000 

Nke;jiy fpuak;   

njhop. kpd;rhuk; 25,000  

njhop. rk;gsk; 100,000  

njhop. thlif 70,000  

,ae;jpu guhkupg;G 
nryT 

28,000  

,aw;jpu Nja;T 10,000  

Vida Nke;jiy 
nryT 

26,000  

Neupy;%yg;nghUs; 15,000 274,000 

  1,315,000 

Muk;g FiwNtiy 
,Ug;G 

30,000  

,Wjp  FiwNtiy 
,Ug;G 

(25,000) 5,000 

  1,320,000 

 fzf;fPL 

myF uPjpahd kPl;ly; nrayl;ilfs; 
juk; 12 

tpilfs;- 07. cw;gj;jp tzpfk ; 

07 
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2) myFf;fhd cw;gj;jpf;fpuak; = nkhj;j cw;gj;jp =     1,320,000 

   cw;gj;jp myFfs;     100,000 
 

    = &.13.20 
 

3) myFf;fhd tpw;gidtpiy  = &. 13.20 + 3.30 = &.16.50 
 

4) kPjKs;s ,Ug;Gf;fspd; fpuak;  = 20,000 x 13.20 = &. 264,000 

 

 

 

02.                    RuQ;rp Nahfl; cw;gj;jpahsh;fspd; 
          2022.03.31 ,y; Kbtile;j Ma;Lf;fhdcw;gj;jp fzf;F 

Muk;g %yg;nghUs;   

ghy; 
30,000  

n[ylPd; 
1,000  

goq;fs; kw;Wk; NtW 
%yg;nghUs; 3,000 

34,000 

   
nfhs;tdT   
ghy; 1,560,000  
n[ylPd; 25,000  
goq;fs; kw;Wk; NtW 
%yg;nghUs; 30,000 

1,61.5000 

   

(-) %yg;nghUs; moptiljy;        (6,500) 

  1.642,500 

%yg;nghUs; ,Wjp   ,Ug;G   

ghy; 13,000  

n[ylPd; 3.000  
Vida %yg;nghUs;  5,000 (21,000) 

  1,621,500 

Neh;$yp nryT  450,000 

Neh; Vida nryT  50,000 

Kjd;ikf;fpuak;            2,121,500 

   
Nke;jiy fpuak;   
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Nkw;ghu;itahsu; rk;gsk; 169,200  

njhopw;rhiy thlif 350,000  

njhopw;rhiy kpd;rhuk; 
25,000  

fhtyhsp rk;gsk; 
60,000  

Neupy; %yg;nghUs; 
92,300  

,ae;jpu Nja;T 
10,000  

,ae;jpu guhkupg;Gr;nryT 
30,000  

Vida nghJNke;jiy nryT 
58,000 794500 

  2,916,000 

 

2) Nahfl; Nfhg;igfspd; myF tpiy  = 2,916,000  

              72,900 

 

        = &.40.00 

nra;if 
   cw;gj;jp nra;j Nahfl; Nfhg;gifspd; vz;zpf;if 

 
Muk;g ghy; yPl;lh; 300 

 
nfhs;tdT 

 
12,000 

 
gOjile;j ghy; (50) 

 
,.,Ug;G (100) 

   
12,150 

    

   
12,150 x 6 

   

72,900 
 

    

3) tpw;gid 71,500x70 
 

5,005,000 

tpw;gid fpuak; 
  Muk;g ,Ug;G 4,500 

 cw;gj;jp fpuak; 2,916,000 
 gOjile;j cw;gj;jpfs; (2,000) 
 

,;.,Ug;G          (60,000)     2,858,500 

nkhj;j ,yhgk;. 
 

                2,146,500 

   

   

 

 


